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FOCUS QUESTION:  WHAT DOES DNA LOOK LIKE?
DNA STRUCTURE

· DNA is also called DEOXYRIBONUCLEIC ACID and it stores our genetic information.  We get it from our parents, through the sperm and egg during Fertilization
· How does DNA direct the building of the body?   DNA contains the gene code for building proteins (built from amino acids), and these proteins will build your body and give you all your traits
· The building blocks of DNA are called NUCLEOTIDES 
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· The three parts of a nucleotide are:  phosphate, base and sugar.  
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· The four bases are: adenine, thymine, cytosine, and guanine.
· DNA and RNA are both NUCLEIC ACIDS and they are both made of nucleotides.  But their functions are different.  
· DNA contains all the instructions thousands of genes!) of life and it is so important that it stays protected in the nucleus  DNA is way, way longer!!!
· RNA contains a copy of only one gene and RNA can travel out of the nucleus to ribosomes, where proteins are made.    
    RNA
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WHY MUST DNA BE COPIED COMPLETELY?

DNA REPLICATION:  
· Remember that before a cell can divide (mitosis or meiosis), the DNA must be copied so that both cells will have the same DNA instructions.  This is called DNA REPLICATION It happens in S phase of Interphase.  
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so that both cells can each have a copy of the same DNA.

How does this happen?????
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· What happens if there is an error or mutation in the DNA?
· 3 repair enzymes come to the rescue:  one removes the damaged base, another brings in a new nucleotide that matches the other strand, another enzyme bonds the sugar and phosphate backbone

RNA is:  single/double stranded


RNA contains the sugar: deoxyribose/ribose


RNA contains the base: thymine/uracil





DNA is:  single/double stranded


DNA contains the sugar: deoxyribose/ribose


DNA contains the base: thymine/uracil








RNA contains the sugar ribose and it has an oxygen.


DNA contains the sugar deoxyribose and it is missing an oxygen.





Write down the steps of replication:  


The double helix unwinds.  





Enzymes break the hydrogen bonds and the strands separate








Each strand is copied by an enzyme called DNA polymerase.  Each old strand serves as a template for a new complementary strand





The process continues until 2 identical DNA helices are formed.





The result is two DNA molecules.  Each contains an old and new strand.








